Sample Problems – Chapter 10

1.  A quarterback makes 22 passes in a game and you record the number of completions.  The sample space for the number of completions you record is

a. Any number between 0 and 22           b. Any integer between 1 and 22

c.  The integers between 0 and 22          d.  Any integer greater than 0.

2.  In a table of random digits, such as Table B in the book, each digit is equally likely.  The probability that the 5th digit in any line is greater than 3 but less than 9 is

a. 5%               b. 50%               c. 5/10               d. 5/100

3.  IQ’s in a class are distributed Normally with a mean of 110 and a standard deviation of 15.  You select a student at random from the class.  The probability that the student’s IQ is above 123 is about 

a.  .085             b.  .405               c.  .19              d.  .81

4.  The time a scheduled airline takes to fly from Las Vegas to Albuquerque can be represented by a uniform density curve with any time between 81 minutes and 91 minutes equally likely.  90% of the flights will take less than
a.  81 minutes  b.  82 minutes   c.  89 minutes   d.  90 minutes

5.  In a continuous probability model, you are interested in probabilities


a.  only at specific points


b.  in intervals under a density curve


c.  that are less than zero


d.  that are only from a normal distribution

6.  Which of the following is true, based on the probability rules?

a.  If A is an event, then -1
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 P(A) 
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 0
     
b.  1
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 P(S)   where S is the entire sample space


c.  If P(A) = P(A does not occur),  then P(A) = .5


d.  If events A and B are disjoint, then P(A) must be greater than P(B)

7.  If you toss a fair coin 5 times, which sequence is more likely to occur?


a.  HTHTH                                              
b.  TTTTT


c.  HHHHT                                                
d.  All three above are equally likely 

8.  In a standard normal distribution, P(Z  < 1 OR Z > 1) =   (use the 68, 95, 99.7% rule)


a.  .95               b.  .68  
c.  .32   
d.  .05  

Sample Problems – Chapter 11

1.  The sampling distribution of the sample mean, 
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, has a normal distribution 

a.   for any sample size if the population is normally distributed

b.   only for small sample sizes if the population is highly skewed

c.   only for small sample sizes if the population is small

d.   only for small sample sizes if the population is large

2.  A population has a mean of 103 and a standard deviation of 9.  You select a sample of size 36.

a.  The mean of the sampling distribution of 
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 is 103/
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.


b.  The standard deviation of the sampling distribution of 
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is 9.


c.  The mean of the sampling distribution of 
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is 9


d.  The standard deviation of the sampling distribution of 
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is 1.5
3.  As used in the book, the quantity
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is a


a.  statistic
b.  sampling distribution
c.  standard deviation   
d.  parameter

4.  You select a sample of size 4 from a population which has a normal distribution with mean 8 and standard deviation 0.2.  The probability the mean of your sample is less than 7.9 is about (use 68,95,99,7% rule)

a.  .05    
b   .16   
c.  .34     
d.  Not appropriate – sample must be larger 
5.  Mountain Dew cans coming off the production line have a mean volume of 16 ounces and a standard deviation of .6 ounces and are known to be normally distributed.  You buy nine cans (assume this is a random sample from the production line).  What is the approximate probability that the total volume of Mountain Dew in the 9 cans is greater than 147.6 ounces

a.  .25     
    b.  .05      
    c.  .025 
    d.  .0015

6.  The mean of a sample, 
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, gets closer to the mean of the population, 
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, as the sample size, n, gets larger and larger.  This is a consequence of the

a. PDQ

     b. CLT
     c.  SRS
     d.  LLN

7.  According to the central limit theorem

a.  averages of samples are less than the average of the population

b.  averages of samples are greater than the average of the population


c.  averages of samples are more variable than the individual observations in the population


d.  averages of samples are less variable than the individual observations in the population.

8.  The mean of the sampling distribution is 
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.  This means 
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is


a.  a parameter



b.  a deviation from the sample mean


c.  an unbiased estimator of 
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c.  a large number sample 
Sample Problems – Chapter 14
1.  A confidence interval refers to your confidence that


a. a parameter is in a certain interval


b. a statistic is in a certain interval


c.  a sample mean is in a certain interval


d.  your procedure in calculating the interval was correct

2.  A confidence interval for a population mean is calculated

a.  by using the population mean as an estimate


b.  by using the sample mean as part of the margin of error


c.  by using the sample mean as an estimate of the population mean


d.  by adding and subtracting the sample mean to the margin of error

3.  All else being equal, if you multiply the sample size by 4 and recalculate a confidence interval,

a.  you also multiply the size of the confidence interval by four


b.  you cut the margin of error in half


c.  you also multiply the sample mean by 4


c.  you divide the margin of error by 4
4.  You calculate a 90% confidence interval from a sample mean.  The confidence interval 

a.  would include the sample mean about 90% of the time.


b.  would include the population standard deviation about 90% of the time.


c.  would include the population mean about 90% of the time.


d.  would include the population standard deviation about 90% of the time.
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5.  You calculate a 95% confidence interval from a sample mean.  The confidence interval

a.  would be wider than a 90% confidence interval


b.  would be wider than a 99% confidence interval


c.   would occur only if the sample size were very large


d.   would occur only if the sample size were very small

6.  You calculate a 95% confidence interval from a sample mean.  The interval is designed so that it

a.  will not contain the sample mean about 5% of the time


b.  will not contain the population mean about 5% of the time


c.  will not contain the sample size about 5% of the time

c.  will not contain the margin of error about 5% of the time
7.  All else being equal


a.  a larger sample size will increase the size of the margin of error


b.  a larger sample size will decrease the size of the margin of error


c.  a larger sample size will increase the width of a confidence interval


d.  a larger sample size will increase the size of the sample standard deviation

Sample Problems – Chapter 15
1.   In an test of Ho: 
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 = 
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o vs.  HA: 
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 EMBED Equation.3  [image: image20.wmf]m

o, at the 
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= .05 level, you would reject Ho  if

a.  
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  appeared in the 95% confidence interval

b.  
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o  appeared in the 95% confidence interva

c.  
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o did not appear in the 95% confidence interval

d.  
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  did not appear in the 95% confidence interval
2.   In a test of Ho: 
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 = 
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o vs.  HA: 
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 EMBED Equation.3  [image: image29.wmf]m

o, a very small p-value


a.  would be weak evidence against Ho.


b.  would be strong evidence against Ho.


c.  would be weak evidence against 
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d.  would be strong evidence against 
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3.  Which could be a correct statement of a null hypothesis?


a.  
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 = 
[image: image33.wmf]±

3
    b.  
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 = -3
            c.   
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 = 0               
d.   
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 = -3

4.  In a 2-tailed z-test for a population mean


a.  the p-value is the area to the right of the z-statistic you calculated


b.  the p-value is the area to the left of the z-statistic you calculated


c   the p-value consists of two areas under the normal curve


d.  the p-value is double the area to the right of any negative z-value you calculate

5.  To calculate a z-test statistic for a hypothesis test, you do not need to


a.  calculate a sample mean 


b.  know a sample size


c.  state a null hypothesis


d.  calculate a sample standard deviation

6.  A p-value


a.  is the probability that your null hypothesis is wrong


b.  is the probability that your alternate hypothesis is wrong

c.  is the probability that your z-statistic is within 95% of your null hypothesis


d.  is the probability that you would calculate a z-statistic as or more extreme than the one you did calculate given that your null hypothesis is correct.

7.    Given the one-tailed hypothesis pair Ho: 
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o vs.  HA: 
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 < 
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o,  you would have very strong evidence against the null hypothesis and if favor of the alternative hypothesis

a.  if you calculated a p-value of 0.473

b.  if you calculated a z-statistic of 4.73

c.  if you calculated a z-statistic of -0.473


d.  if you calculated a z-statistic of -4.73
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